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M,/ km

PHRERIG S — T VIER 1

k m 72 0 fiR R4z

M,/ km

PHRERG S — T VIER 1

k m 72 0 iR R4zt

96, 064

M,/ km

PHRERIG S — T VIER 1

k m 72 0 fiR R4z

M,/ km

PHRERIG S — T VIER 1

k m 72 0 iR R4zt

96, 064

M,/ km

PHRERG S — T VIER 1

k m 72 0 iR R4z

M,/ km

PHRERIG S — T VIER 1

k m 72 0 iR R4zt

94, 954

M,/ km

PHRERIG S — T VIER 1

k m 72 0 fiR R4z

M,/ km

PHRERIG S — T VIER 1

k m 72 0 iR R4z

93, 845

M,/ km

PHRERIG S — T VIER 1

k m 72 0 fiR R4zt

M,/ km

PHRERIG S — T VIER 1

k m 72 0 iR R4zt

100, 501

M,/ km

PHRERIG S — T VIER 1

k m 72 0 iR R4zt

101, 056

M,/ km




BRI  — 7 MIER 1k m %7 0 MR R AT GO | 104,210 M,/ km
RO — 7 IEE 1 k m47s 0 iRt (Z)IR) | 98,055 M/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (BB | 90,103 M,/ km
HEROE S — 7 IEE 1 k m4 7 0 iRt (L) | 93,181 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (IR | 93,604 M/ km
HREROE S — 7 IEE 1 k m4 7 0 R (B | 84,717 M,/ km
HREROE S — 7 IER 1 k m4 7 0 iRt (UAUR) | 96,516 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 Rt (REHR) | 92,155 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (BER) | 88,051 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (B | 91,386 M,/ km
HREROE S — 7 IEE 1 k m47s 0 iRt (B | 88,308 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (SER) | 88,564 M,/ km
HREROE S — 7 IER 1 k m4 7 0 iRt (W) | 88,308 M,/ km
FREROE S — 7 IEE 1 k 47 0 iRt GUESR) | 86,769 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt OB | 89,334 M,/ km
HEROE S — 7 IEE 1 k m47s 0 iRt (M) | 85,999 M,/ km
HREROE S — 7 IEE 1 k m47s 0 iRt (ZSEI) | 88,308 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (gl | 88,821 M,/ km
HREROE S — 7 IEE 1 k 47 0 Rt (BEUR) | 82,152 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (BRI | 82,152 M,/ km
HEROE— 7 IEE 1 k m4 7 0 iRt (WILR) | 83,601 M,/ km
HREROE S — 7 IEE 1 k m47s 0 iRt (KBS | 85,486 M,/ km
HREROE S — 7 VIEE 1 k m47s 0 iRt (L) | 84,460 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (B | 87,795 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (B | 89,077 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (BEER) | 86,256 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt (AR | 86,256 M,/ km
HREROE S — 7 IEE 1 k m4 7 0 iRt GBI | 88,821 M,/ km

kRO — 7 B 1k m4 7 0 iRty GRtE) 107,711 M/ km
PR — 7 VER 1 k m4 7z 0 MR R (%I | 101,333 M/ km
kR — 7 VB 1k m47- 0 iRt GErisi) 93,013 M/ km
kR — 7 AVER 1k m4 7 0 fEa Rty (L) 96, 064 M/ km
R — T AIER 1k m 47 0 MR (B )IE) 96, 341 M/ km
PR — 7 AVER 1k m4 7 0 iRty (@ Irn) 86, 080 M/ km
kR — 7 AVER 1k m4 7 0 MR Rt (LELUR) 99, 669 M/ km
PR — 7 VB 1k m47- 0 iRty (BB 95,509 M/ km
kR — 7 VB 1k m4 7 ) MR Rty (i R IR) 90,794 M/ km
kR — 7 VB 1k m 47 )RR Rt () 94,400 M/ km
kR — 7 VB 1k m4 7 0 iRty () 91,072 M/ km
kRO — 7 VB 1k m47- 0 iRty (SER) 91,349 M/ km
kR — 7 VB 1k m4 7 0 iRty () 89,962 M/ km
kR — 7 AVER 1k m4 7 0 KRRt CGROEonT) 88,576 M/ km
kR — 7 AVER 1k m4 7 0 faa Rty CRBRAT) 90,794 M/ km
PR — 7 AER 1k m 47 0 fEa Rt (JRER) 87,467 M/ km
kRO — 7 B 1k m 47 0 iRt (ZRRIR) 89,962 M/ km
R — T AIER 1k m 7 0 MR R (Figkus) | 90,240 M/ km
PR — 7 AVER 1k m47 0 iRty (BEURL) 84,416 M/ km
kRO — 7 VB 1k m4 7 0 iRt (BRI 84,416 M/ km
kR — 7 AVER 1k m4 7 0 fEa Rty (L) 86, 080 M/ km
PRI — 7 VB 1k m 47 0 iRty (LR 88,298 M/ km
R — T AIER 1k m 47 0 MR (LR 86, 635 M/ km
kR — 7 AVER 1k m4 7 0 iRt (IR 88,576 M/ km
kR — 7 VB 1k m4 7 0 MR Rt (F)I1R) 89,962 M/ km
kR — 7 VB 1k m47- 0 iRty (IR 87,189 M/ km
kR — 7 AVER 1k m4 7 0 MR Rt (@) 87,189 M/ km
kRO — 7 VB 1k m4 7 0 KRRt (@) 92,736 M./ km

gl



RO — 7 VIER 1k m Y7 b iR Aet () | 87,795 M,/ km RO — 7 VIER 1 k m 7 0 AR A (RN 91, 349 M,/ km
RO — 7 VIER 1k m Y7 0 iR Aet (R | 85,230 M,/ km RO — 7 VIER 1 k m 7 D AR (RN 88,576 M,/ km
RO — 7 VIER 1k m Y7 0 iR At (AR | 84,204 M,/ km kRO — 7 VIER 1 k m 7 0 ARt (AR 87, 467 [,/ km
RO — 7 VIER 1k m Y7 0 iR Aet (KR | 84,973 M,/ km RO — 7 VIER 1 k m 7 0 AR (KAIR) 88, 298 M,/ km
RO — 7 VIER 1k m Y7 0 iR At (EIER) | 83,691 M,/ km RO — 7 VIER 1 k m 7 0 AR A (IR 86,912 M,/ km
RO — 7 VIER 1k m Y7 0 iR et (ERBR) | 85,230 M,/ km HEROL S — 7 VIER 1 k m%7s 0 iR R (VM) | 88,576 M,/ km
RO — 7 VIER 1k m Y7 0 iR Ae s (B | 78,048 M,/ km RO — 7 VIER 1 k m 7 D AR A (R 80,533 [,/ km
MR — 7 VIR 1k m 2 7= 0 Hisk g e (L) 334, 378 M,/ km R o — 7 VIR 1k m 272 0 Hisk iR e (L) 321, 302 M,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 MRt (AR 314,417 M,/ km MR o — 7 VIR 1k m 2 7= 0 iR e (AR 302, 266 [,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 Hii R et (CHFIR) 325, 823 M,/ km MR — 7 VIER 1 k m 272 0 sk iR e (BT 313, 688 [,/ km
WEEIE/r — 7 VAER: 1 k m% 7= 0 MRt (B 341,983 M,/ km MR — 7 VIR 1k m 272 0 Hia iR et (BRI 328,917 M,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 iRt (KR 323,922 M,/ km R o — 7 VAR 1k m 272 0 MR e (B ) 309, 880 [,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 iR et (IR 331, 527 M,/ km MR — 7 VIER 1 k m 272 0 Hid iR e (LB 318, 447 [,/ km
WEEE/r — 7 VAER: 1 k m% 7 0 MRt (kb IR 337, 230 M,/ km MR — 7 VIER 1k m 272 0 s iR et (eI 324, 158 M,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 MR Rt (IR 338, 181 M,/ km MR — 7 VHER 1k m 272 0 Hia iR e (RIR) 324, 158 [,/ km
WEEIE/r — 7 VAER: 1 k m% 7= 0 MR et (AR 334, 378 M,/ km MR — 7 VIER 1k m 272 0 His iR e (AR 320, 350 [,/ km
WEEIE/r — 7 VAER: 1 k m% 7 0 MRt (BES IR 329, 626 M,/ km MR — 7 VIR 1k m 272 0 M iR gt (S 1) 316, 543 M,/ km
MR — 7 VIR 1 k m 2472 0 sk iR e (SRR 352, 439 M,/ km MR — 7 VHER 1k m 2% 7= 0 Hid iR e (SRR 339, 387 M,/ km
WEEIE/r — 7 VAER 1 k m% 7 0 MRt (THER) 355, 200 M,/ km VR — 7 VHER 1k m 272 0 Mk iR b (TER) 341, 290 [,/ km
MR o — 7 VAR 1k m 2 7= 0 MR e (ROTH) 380, 005 M,/ km MR o — 7 VIR 1k m 2 72 0 Hisk iR e (ROTH) 364, 134 [,/ km
MBI — 7 VIER 1 k m2% 7= 0 gk iR & (WZs)IR) | 357,192 M,/ km MR — 7 VIERE 1 k m 2% 72 0 Ak iR e (b1 342, 242 M,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 iR 2t (BB ) 327, 724 M,/ km VR o — 7 VAR 1k m 2 72 0 Hisk iR e (FHEIR) 313, 688 [,/ km
WEEIE/r — 7 VAER: 1 k m% 7 0 iRt (L) 339, 131 M,/ km MR o — 7 VIR 1k m 2 7= 0 MR g (81l 324, 158 M,/ km
MR o — 7 VIR 1k m 2472 0 His iR e (f7)111) 341,032 M,/ km MR — 7 VIR 1k m 2% 72 0 MR (77)111) 325, 110 [,/ km
WEEIE/r — 7 VAER: 1 k m% 7= 0 iRt (RadkiR) 307, 763 M,/ km MR — 7 VIR 1k m 2 7= 0 His iR et G 289, 892 [,/ km
WEEE/r — 7 VAER: 1 k m% 7= 0 iR 2t (1150 351,488 M,/ km MR o — 7 VHER 1k m 272 0 Hia iR e ([LBLIR) 336, 531 [,/ km
MR — 7 VIR 1k m 272 0 Hisk iR e (EFIR) 335, 329 M,/ km MR — 7 VAR 1k m 272 0 Hidk iR et (EFIR) 322, 254 [,/ km
WEEIE/r — 7 VAER: 1 k m% 7 0 MRt (b e 320, 120 M,/ km MR o — 7 VAR 1k m 272 0 MR b (1) 306, 073 [,/ km




WK — T VIR 1 k m Y72 0 Mgk R g (%) 332,477 M./ km
W — 7 VIR 1 kmY 7= Y Mgk R (ZmiR) 321,071 M./ km
WIEN 7 — 7 VIR 1 km% 7Y i ke (ZER) 322, 021 M./ km
W — 7 VIR 1 kmY 72 Y Mgk e (R IR) 321,071 M./ km
RN — 7 VIR 1 k m Y7 Y Mk ke CU#brF) 315, 367 M./ km
W — 7 VIR 1 k mY 7= Y Mgk R (KRBM) 324, 873 M./ km
W — 7 VIR 1 km¥Y 7= Y Mgk e (JLEIR) 312,516 M./ km
RN — 7 VIR 1 k m¥% 7Y ik ke (KRR 321,071 M./ km
WHENr — 7 VER 1 km¥72 0 ik R2% (Fndflg) 322,972 M./ km
W — 7 VIR 1 km¥Y 7Y sk ke (BEUR) 298, 257 M./ km
W — 7 VIR 1 kmY 72 Y sk ke (BRIE) 298, 257 M./ km
W — 7 VIR 1 kmY 7= 0 Mgk g (L IR) 303, 961 M./ km
W — 7 VIR 1 kmY 72 Y ik R (L5 IR) 310,615 M./ km
W — 7 VIER 1 km Y7 Y Mgk ke (Ln %) 306, 812 M./ km
RN — 7 VIR 1 km¥Y 7Y ik ke (fEEIR) 319, 169 M./ km
W — 7 VIR 1 kmY 7Y ik ke (&) 323,922 M./ km
WK — 7 VIR 1 km¥Y 7Y Mgk ke (ZigIR) 313, 466 M./ km
W — 7 VIR 1 km Y7 Y Mk ke (FmiR) 313, 466 M./ km
W — 7 VIR 1 km¥Y 72 Y Mgk e (f@h %) 322,972 M./ km
RN — 7 VIR 1 kmY 7Y sk ke (FEEIR) 319, 169 M./ km
RN — 7 VIR 1 km¥Y 7Y i R eE (RIFIR) 309, 664 M./ km
WIEN 7 — 7 VIR 1 km¥Y 7Y ik ke (RARIR) 305, 862 M./ km
RN — 7 VIR 1 km¥Y 7Y sk e (Ko IR) 308,713 M./ km
WIEN 7 — 7 VIR 1 km¥Y 7Y iR R (EiIIR) 303, 961 M./ km
WENr — 7 VER 1 km¥ 720 sk 2% (BIRHE) 309, 664 M./ km
W — 7 VIR 1 k m Y72 Y Mgk e (FhiIR) 283, 049 M./ km
FRIER 1 k mX 72 0 ik et 46, 227 M,/ km
FOREHRER 1 kmY7 ) sk ine 46, 227 M./ km

W — 7 AVER 1 km 47 ) Mia Rt (§hi i) 318,447 M./ km
W — 7 AVER 1 km 47 0 Mia Rt (Zmi) 307, 025 M./ km
W — 7 AVER 1 km 470 Mia Rt (SEIR) 307,977 M./ km
WENT — 7 VIER 1 km¥ 72 0 kRt (e R 303, 218 M./ km
W — 7 AVER 1 km 47 0 Mia R 2t (GRUEiT) 298, 458 M./ km
W — 7 VB R 1k m 472 0 MEa Rt (KIRAT) 306, 073 M./ km
WS — 7 AAE R 1k m 47 0 MR 2t (SRR 294,651 M.,/ km
W — 7 VER 1 km 470 Mia Rt (ZRRIR) 303,218 M/ km
WEEE 7 — 7 AVHER 1 ko m %72 0 Mgt (ks 304, 169 M./ km
W — 7 AVER 1 km 472 0 Mia Rt (BEURL) 284,181 M/ km
W — 7 AVER 1 km 472 0 Mia Rt (BiRIL) 284,181 M/ km
W — 7 VTR 1 km 472 0 st (L) 289,892 M./ km
WS — 7 AAE R 1k m 47 0 ERR IR 8 (L ) 297,507 M./ km
WENT — 7 VIER 1 km% 720 ket Lok 291, 796 M./ km
W — 7 AVER 1 km 472 0 Mia R 2t (EEIR) 298, 458 M./ km
W — 7 VER 1 km 4720 Mia Rt (FJIIR) 303,218 M./ km
W — 7 AVER 1 km 472 0 Mia Rt (BiI) 293, 699 M./ km
W — 7 AVER 1 km 47 0 Mia Rt (Ei) 293, 699 M./ km
W — 7 AVER 1 km 47 0 Mia Rt (R u) 312,736 M./ km
W — 7 AVER 1 km 47 0 MEa Rt (FRER) 307,977 M./ km
W — 7 AVER 1 km 472 0 Mia Rt (RRFIR) 298, 458 M./ km
WS — 7 VB 1k m 47 0 a2t (REAR) 294, 651 M/ km
W — 7 AVER 1 km 47 0 Mia Rt (KoL) 297,507 M./ km
W — 7 VB R 1 km 472 0 Mia Rt CERFIRL) 292, 748 M./ km
W — 7 AR 1k m 47 0 MRt (BRI ) 298, 458 M/ km
W — 7 VB R 1 km 47 0 MEa Rt (i) 270, 856 M./ km
BHIER 1 k m4 72 0 fisk (r s 46, 489 M, km
POREBER 1 kmM47 0 ke 46, 489 M, km

+ | i



LHEER 1 km¥7z v sk e 46, 227 M,/ km
HREER 1 kmY7 0GR Ras 46,227 M,/ km
EAHERIER 1 km%7- Y i et 46, 227 M.,/ km
BRIEFEIER 1 km %7 0 iR 46, 227 M, km
BRI 2 B B b 0. 04325 —

b o R W AR I A e B 0.01427 —
AR (RE R MaR (R 22 R B AL R 0. 06793 —

[m&]

BEAL R (TTOMRIR) HIAMRIKIER 1 k mY4 7= Y faskin229% | 4,214 M.,/ km
BEALARA (PARR) TNMIRIER 1 k mX47- Y faskin 4% | 1,038 M.,/ km
BELRA (s MERAAR) M 2% (R e e B A e 3k 0.02088 —

S50 A A R R B e VAL 0.01427 —

[m&]

ST M A A R A 0.02910 —

TR & H RO b s R a2 e B g A L R 0.001455 —

[m&]

AL — 4 V7 b= T Rk R SR % 0.09174 —
HHaTA—F YT b= T Rk R SR % 0. 08845 —

CS Y7 MY =T sk fhef s ERI R 0. 07202 —
BIFRL— 2 Y 7 7 = 7 s R e o B A e 0. 07000 —
SBC Y7 by =T Madk it g A 0. 09453 —
ENUMY—/Y 7~ 7= 7 gk 2o g 4a LR 0. 09460 —

DN ST =Y 7 T =7 sk e B L 0. 09333 —

[m&]

TEHE 1A 72 0 B K 5 AR 230 M A
BTk m 47z 0 ER b R 26, 850 M, km
PO 1 k m47s 0 R R 268, 270 M, km
L9351 km7= 0 EHK S AR 597, 080 M, km

LIHOBER 1 km¥%7 v fiskfra® 46, 489 M,/ km
HERBEER 1 kmY472 0 fi ket 46, 489 M./ km
EAHERIER 1 km%7- Y i et 46, 489 M, km
EARIEFEIHER 1 k m Y472 0 iRt 46, 489 M,/ km
) RRAM R PR A e et B A EL R 0.03428 —

Behk = W ek P R R G AR L R 0.01364 —
AR (RE R MRk (R 22 R E AL R 0. 06952 —

(71 7]

AR (HAMRES) HOMRISER | kmY 72 0 figkfate | 3,960 M/ km
AR (HPARES) HNRRISER | kmY 72 0 figkfate | 1,106 M/ km
BELRA (s MERbAR) M B (R e e B A Le 3R 0. 02688 —

I3 R i sk Pr e xF BB AR LR 0. 01364 —
(7172

ST R (R 4 R B AR b 0.03101 —

TE 2E ROV S b iR R A o B e b 0. 001665 —
(7172

RINE N —4 VT k= T Rk A R E R R 0.09875 —
HHaTNV—5 YT Y= T iR HEE R 0. 08869 -

CS Y7 Ny =7 sk e EHH LR 0. 08789 —
BRI —& Y 7 b = 7 sk R B3 e E 0. 08590 -
SBCY 7 by =T gk ikeE T BREFILE 0. 10575 —
ENUMY—RY 7 7 = 7 ik a2 e 8 g 4 R 0. 10573 —
DNSH =1V 7 b =7 Rk 2B G R R 0. 10555 —
(7172

TR 1A 72 0 B K 5 AR 248 M A
BT k mM7- 0B SR 29, 225 M,/ km
OSSR 1 km7s AR S AR 292, 027 M,/ km
L 931 km 7 0B KSR 615, 336 M,/ km

1 im



HWAR Y 7 21 kmM7- 0 EE S Ak 3,143 M./ km
EVRARERE 1 k m¥7z 0 & SR 3,143 M./ km
EARIEFIE 1 k mY7= 0 EE S 3,143 M./ km
SRR AR 15X 7V B R 48 M/ A
PR BT 22 28 DR A b R 0.001707 —
[REAR 3 E AP oEite-¢iilEed 0.001988 —
17 PRI f 2 e ek B AR b =R 0.001975 —
R A A R b 0. 000787 —
SRR A R B R bR 0. 003701 —
HEEM LA R BB AL R 0. 004065 —
TR K OV (00 5 2 R B AL 0. 0006616 —
HL S A e B AR LR 0. 00001651 —
TH. & H RO i 52 o e e 0. 0007199 —
BRI 70 T ok 1 B 20 P o 0. 02456 —
FEME A L (X Z L] P ) 0.1247 —
EHIGEEIR Ot 1 PER) 0. 1507 —
o5 I R A4

(W]

IR B NI —T I 36.5 4

WMFAZNVIr—T 45.5 S

(]

I 66. 65 H

R 66. 65 g

(W]

L A 66. 65 F

THHA Y 7 21 km¥Y 720 E S RE 3,239 M,/ km
BAREE 1 k m47z 0 E R S5 Ak 3,239 M,/ km
EARILFEE 1 km%7- 0 EK SR 3,239 M,/ km
SRR AR 1 547 0 B R 52 m/ &
TR R Al 1 25 2 T e B AR b R 0.002797 —
MRS ST R G A e R 0. 001866 —
T PRI 25 A R S A b R 0.001981 —
R A e R b 0.0008598 | —
S T TR R AR E R 0. 002464 —
HESE LA R BB AL R 0. 006274 —
A R OV B 25 0 T MR A L 0.001048 —
HL i s B AR bR 0 —
TR, & KO S5 s g gt = 0.001072 —
FRBRBFIE 28 R I B T LR 0. 02522 —
FHILmE R (A Z L1 PHE) 0.1136 —
EHIGEEIR Ot PER) 0. 1344 —
T I R A4

(R ]

BRIERA BN —TF I 35.5 &

R A ZNr—T 44.5 iR

(R /%]

R 65.6 &

oA R 65.6 L

(R ]

oL A 65. 6 1
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